

# ASSIGNMENT 2

KUNDE SHARON SEPINEN

19/ENR031032

CIVIL ENGINEERING

END 381

1) # SOLUTION

$$y = e^{x^2+x}$$

$$e^{x^2-x}$$

$$u = e^{x^2} \quad v = e^x$$

$$\frac{du}{dx} = 2xe^{x^2} \quad \frac{dv}{dx} = e^x$$

$$y' = e^{x^2} \cdot e^x + e^x \cdot 2xe^{x^2}$$

$$y' = e^{x^2+x} + 2xe^{x^2+x} \cdot e^{x^2+x} (-2x+1)$$

$$u = e^{x^2+x} \quad v = 2x+1$$

$$\frac{du}{dx} = e^{x^2+x}(2x+1) \quad \frac{dv}{dx} = 2$$

$$y'' = e^{x^2+x} \cdot 2e + (2x+1)(2x+1)e^{x^2+x}$$

Letting  $y = e^{x^2+x}$  and  $y' = e^{x^2+x}(2x+1)$

$$y'' = 2y + y'(2x+1) = y'(2x+1) + 2y$$

$$y'' = y'(2x+1) + 2y$$

$$u = y^{(n)} \quad v = 2x+1$$

$$u^n = y^{(n+1)} \quad v' = 2$$

$$y^{(n+1)} = y^{(n)} + v'' = 0$$

$$y^{(n+2)} = y^{(n+1)}(2x+1) + n y^{(n)} \cdot 2 + 2y^n$$

$$y^{(n+2)} = (2x+1)y^{(n+1)} + 2(n+1)y^n$$

10.  $y = e^{x^2+x}$

Differentiate

$$y = y' \quad \text{and} \quad y = y''$$

$$y = (2x+1)e^{x^2+x}$$

$$y'' = (2x+1)(2x+1)e^{x^2+x} + e^{x^2+x} \cdot 2$$

$$y'' = (2x+1)y' + y \cdot 2$$

Therefore

$$y'' = y'(2x+1) + 2y$$

finding the nth derivative of  $y^n$

$$y^{(n+2)} = y^{(n+1)} (2x+1) + n y^{(n)} \cdot 2 + 2 y^n$$

$$y^{(n+2)} = y^{(n+1)} (2x+1) + 2 y^n (n+1)$$

Therefore

$$y^{(n+2)} = (2x+1) y^{(n+1)} + 2 y^{(n)} (n+1)$$

$$y^{(n+2)} = (2x+1) y^{(n+1)} + 2(n+1) y^n$$

2)  $y = x^3 e^{4x}$  determine  $y^{(5)}$

solution

$$y^n = u^n v + n u^{(n-1)} v' + \frac{n(n-1)}{2} u^{(n-2)} v'' + \frac{n(n-1)(n-2)}{3!} u^{(n-3)} v''' + \frac{n(n-1)(n-2)(n-3)}{4!} u^{(n-4)} v^{(4)} + \dots$$

Taking

$$u = e^{4x} \quad v = x^3$$

$$u^n = 4^n e^{4x} \quad v' = 3x^2$$

$$u^{(n-1)} = 4^{(n-1)} e^{4x} \quad v'' = 6x$$

$$u^{(n-2)} = 4^{(n-2)} e^{4x} \quad v''' = 6$$

$$u^{(n-3)} = 4^{(n-3)} e^{4x} \quad v^{(4)} = 0$$

$$u^{(n-4)} = 4^{(n-4)} e^{4x} \quad v^{(5)} = 0$$

$$u^{(n-5)} = 4^{(n-5)} e^{4x}$$

substitute values in general equation solution

$$y^n = 4^n e^{4x} \cdot x^3 + n [4^{(n-1)} e^{4x} \cdot 3x^2] + \frac{n(n-1)}{2} \cdot 4^{(n-2)} e^{4x} \cdot 6x + \frac{n(n-1)(n-2)}{3!} \cdot 4^{(n-3)} e^{4x} \cdot 6 + \frac{n(n-1)(n-2)(n-3)}{4!} \cdot 4^{(n-4)} e^{4x} \cdot 0$$

$$y^n = x^3 4^n e^{4x} + 3n x^2 4^{(n-1)} e^{4x} + \frac{n(n-1)}{2} \cdot 6x \cdot 4^{(n-2)} e^{4x} + \frac{n(n-1)(n-2)}{6} \cdot 6 \cdot 4^{(n-3)} e^{4x} + 0$$

$$y^n = x^3 4^n e^{4x} + 3n x^2 4^{(n-1)} e^{4x} + 3n(n-1) x 4^{(n-2)} e^{4x} + n(n-1)(n-2) 4^{(n-3)} e^{4x} + 0$$

$$y^n = x^3 4^n e^{4x} + 3n x^2 4^{(n-1)} e^{4x} + 3n(n-1) x 4^{(n-2)} e^{4x} + n(n-1)(n-2) 4^{(n-3)} e^{4x} + 0$$

$$y^5 = x^3 4^5 e^{4x} + 3(5) x^2 4^{(5-1)} e^{4x} + 3(5)(5-1) x \cdot 4^{(5-2)} e^{4x} + 5(5-1)(5-2) 4^{(5-3)} e^{4x} + 0$$

$$y^5 = x^3 4^5 e^{4x} + 3(5) x^2 4^{(5-1)} e^{4x} + 3(5)(5-1) x \cdot 4^{(5-2)} e^{4x} + 5(5-1)(5-2) 4^{(5-3)} e^{4x} + 0$$

$$y^5 = 1024 x^3 e^{4x} + 3340 x^2 e^{4x} + 3840 x e^{4x} + 960 e^{4x}$$

2a) solution

$$x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$$

$$x^2 y'' + x y' + y = 0$$

$a_1 \quad a_2 \quad a_3$

• taking  $a_1$

$$u^2 y'' = v^2 c^2$$

$$u^2 = y^{(n+2)} \quad v' = 2x$$

$$u^{(n+1)} = y^{(n+1)} \quad v'' = 2$$

$$u^n = y^n \quad v''' = 0$$

Taking  $a_2$

$$u = y' \quad v = x$$

$$u^n = y^{(n+1)} \quad v' = 1$$

$$u^{(n-1)} = y^n = v'' = 0$$

Taking  $a_3$

$$u = y \quad v = 1$$

$$u^n = y^n \quad v' = 0$$

$$y^{(n)} = u^n v + n u^{(n-1)} v' + \frac{n(n-1)}{2!} u^{(n-2)} v'' + \frac{n(n-1)(n-2)}{3!} u^{(n-3)} v''' + \frac{n(n-1)(n-2)(n-3)}{4!} u^{(n-4)} v^{(4)} + \dots$$

Therefore

$$a_1^{(n)} = y^{(n+2)} \cdot x^2 + n [y^{(n+1)} \cdot 2x] + \frac{n(n-1)}{2!} \cdot y^n \cdot 2 + 0$$

$$a_2^{(n)} = y^{(n+1)} \cdot x + n [y^n \cdot 1] + 0$$

$$a_3^{(n)} = y^n \cdot 1 + 0$$

Substitute values of  $a_1^{(n)}, a_2^{(n)}, a_3^{(n)}$  into general equation

$$y^{(n+2)} \cdot x^2 + 2nx y^{(n+1)} + \frac{n(n-1)}{2} \cdot 2 y^n + x y^{(n+1)} + n y^n + y^n = 0$$

$$x^2 y^{(n+2)} + 2nx y^{(n+1)} + n(n+1) y^n + x y^{(n+1)} + n y^n + y^n = 0$$

$$x^2 y^{(n+2)} + 2nx y^{(n+1)} + x y^{(n+1)} + n(n+1) y^n + n y^n + y^n = 0$$

$$x^2 y^{(n+2)} + (2n+1)x y^{(n+1)} + (n^2 - n + n + 1) y^n = 0$$

$$x^2 y^{(n+2)} + (2n+1)x y^{(n+1)} + (n^2 + 1) y^n = 0$$